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What would happen during electrolysis?

A. Oxygen forms around A.

B. Chlorine forms around B

C. Hydrogen forms around C.
D. Iron(ll) ions form around D.
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Step 1:
find out positive and negative electrode;

Step 2:

Find out the ions attached in electrode Ato D

A: OH-(aq), Cl-(aq) C: OH-, Cl-and Fe

B: Na+(aq), H+(aq) D: Na+(aq), H+(aq)

Step 3:

State which species preferentially discharging

A: 40H-(aq) = 2H20(l) + O2(g)

(OH-(aq) lose electrons easier than Cl-(aq))

B: Na*(aq) + e+ Hg(l) = Na/Hg(l)

(because Hg act as electrode, Na+ is preferentially discharging)
C: Fe > Fe"+ 2e-

(Fe(s) lose electrons easier than other two ions.)

D: 2H*(aq) + 2e” = H2 (g)

(H+(aq) gain electrons easier than Na+(aq))

The correct answer is A
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